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Run 4358 quartetwise, Asyms0 (Raw): Beam OFF
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Run 4358 quartetwise, NegHelAccO/NSamples: All
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Run 4358 quartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON
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Run 4358 quartetwise, PosHelAccO/NSamplesC: All Run 4358 quartetwise, PosHelAccO/NSamples): Beam OFF
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Run 4358 quartetwise, Sums0: All Run 4358 quartetwise, Sums0: Beam OFF

quartetwize_summbD quanelwise_beaml_surmmd
- [Entries 93871 600 Entries 16295
12000 — Mean 15.08 B Mean 2178
— Std Dev 5.251 | Std Dev  0.2124
— 500 —
10000 — B
- I 400 —
BOOO — [
n 300 —
6000 — —
4000 [— 200
2000 [ 100 :—
l|::|_IIII-|—iI|II|J-IIIJ_I.IIJ_LIIIII|II|IIIIII|II| 'D_Ill II|III|III|III|III|III I|II
0 2 4 6 8 10 12 14 16 18 20 22 1.4 1.6 1.8 2 2.2 2.4 2.6 28 3
PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0
Run 4358 quartetwise, Sums0: Beam ON, Laser ON Run 4358 quartetwise, Sums(: Beam ON, Laser OFF
quamstwisa baami las® summil quannstwisa baami lasl sumimil
asp0 — Entries 55960 800 — Entries 20966
— Mean 1912 [ Mean 14.44
2000 — Std Dev  0.3917 200 = Std Dev  0.3554
1800 =
1600 E— 00—
1400 — 500 —
1200 [— =
— 400 —
1000 — —
800 300 —
600 = 200 —
400 - =
200 — 100 —
0 i BT e o TR R S S AN U SN S (N SR AN M Y R T 0o - [ 4 [EN
17.5 18 18.5 19 19.5 20 205 21 13 13.5 14 14.5 15 15.5 16

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamplesO " PosHelAccO/PosHelNSamples0 + MNegHelAccD/MNegHelNSamples(



